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  :   

 (i)  -   , -  -       
        

 (ii)      
 (iii)  -  -      -   

       
 (iv)  -      ,       - 

               
 (v) -    1  2 -         

       
 (vi) -    3  5 -         

30      
 (vii) -    6  15 -        

 50      
 (viii) -    16  21 -        

 70       
 (ix) -    22  27     - 

            
General Instructions :   
 (i) The question paper comprises two Sections, A and B. You are 

to attempt both the sections.  
 (ii) All questions are compulsory. 
 (iii) All questions of Section A and Section B are to be attempted 

separately. 
 (iv) There is an internal choice in three questions of three marks 

each, two questions of five marks each in Section A and in 
one question of two marks in Section B.  
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 (v) Question numbers 1 and 2 in Section A are one mark 
questions. They are to be answered in one word or in one 
sentence.  

 (vi) Question numbers 3 to 5 in Section A are two marks 
questions. These are to be answered in about 30 words each. 

 (vii) Question numbers 6 to 15 in Section A are three marks 
questions. These are to be answered in about 50 words each. 

 (viii) Question numbers 16 to 21 in Section A are five marks 
questions. These are to be answered in about 70 words each.    

 (ix) Question numbers 22 to 27 in Section B are based on 
practical skills. Each question is a two marks question. These 
are to be answered in brief.   

 
 

 –   
SECTION – A 

 

1.              
    1  

 Name the phenomenon responsible for the twinkling of stars in 
the sky.  

 

2.             ? 1 

 Why does the sky appear dark instead of blue to an astronaut ? 

 

3.    (i) , (ii)   (iii)     ? 
C4H10     ? 2 

 Which compounds are called (i) alkanes, (ii) alkenes and        
(iii) alkynes ? Which of them is C4H10 ?  
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4.             
               
              
         2  

 Name the nuclear reaction by which nuclear energy is generated 
in a nuclear reactor. Write the name of the element which is 
used as a fuel in these reactors. List two advantages of using 
nuclear energy in place of fossil fuels.   

 

5.    ?           2 

 What are decomposers ? State their role in our biotic 
environment.   

 

6.      ,  :      
                
                
       3 

 
     ?           

    
 Write the name of the white powder generally added to besan to 

make soft and crisp pakoras. List two ingredients of this powder 
and write function of each. Also give the equation for the 
chemical reaction that takes place when this powder is heated.  

OR 
 What is water of crystallization ? Name and give formula of 

two salts which contain water of crystallization.   
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7.         ?      

              
    – 

 C2H2, C2H4, C2H6, C3H4, C4H5, C6H6   3 

 What is a homologous series of carbon compounds ? Write its 

two characteristics. Giving reason select two compounds from 

the following which belong to the same homologous series : 

 C2H2, C2H4, C2H6, C3H4, C4H5, C6H6  

 

8.             : ( 

         ) 

 P(4), Q(9), R(14), S(19), T(20) 

              

 (i)           ? 

 (ii)           ?   

 (iii)          ?      

   3  

 Consider the following five elements of the modern periodic 

table (atomic number of each is given in the parenthesis) : 

 P(4), Q(9), R(14), S(19), T(20) 

 Giving reason answer the following questions : 

 (i) Which two elements belong to the same period ? 

 (ii) Which two elements belong to the same group ? 

 (iii) Which element has seven electrons in its outermost shell ? 

Write the formula of its halide.   
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9. (i)     ?       
 (ii)  ()          

      
 (iii)           ?         3 

 
          ?     

        ?     
 (i) What are endocrine glands ? Write one main feature of it.  
 (ii) Name the hormone secreted by thyroid glands and state its 

main functions. 
 (iii) What is the importance of iodized salt in our daily life ? 

OR 
 What constitutes the central and peripheral nervous systems ? 

How are various parts of central nervous system protected ?  

 
10.         ?  3 

 How does chemical co-ordination occur in plants ? 
  
11.     ?          

    3    
 

    ?   -        
    

 What is speciation ? List four factors responsible for this 
phenomenon.  

OR 
 What are fossils ? Write in brief any two methods of 

determining the age of fossils.  
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12.           +2.0 D     

    

 (a)                 

   

 (b)          ? 3 

 A person needs a lenses of power +2.0 D for the correction of 

his vision.  

 (a) Name the defect of vision the person is suffering from. 

Write two causes of this defect. 

 (b) What is the nature and focal length of the corrective lenses ?  

 

13.              

              

   3 

 State the principle of an electric motor and write the role of 

split rings in it. Write the energy transformations that takes 

place when an electric motor works.   

 

14.         , “    

       ,        

”    3 

 Describe an activity to show that “an electric current is induced 

in a coil when magnetic field around it is changed”. 
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15.              
                
  -               
              
              -
                  

 (a) -   -      
 (b)   -    -      

  
 (c)             3 

 The natives of a village were perturbed with the local waste 
littered everywhere. There was no provision for the proper 
disposal of domestic waste in the village. The village-panchayat 
was also worried about the cutting of trees for fuels. So, 
Sarpanch of the village one day approached a Government 
Officer to seek a solution of the problem. On the officer’s 
advice the villagers collectively built a biogas plant and solved 
two major problems of the village in one stroke.  

 (a) Name the major fuel component of biogas. 

 (b) List the two advantages of using biogas over wood or fossil 
fuels.  

 (c) List two values depicted by the village sarpanch.  
 

16.          ?   
    -     5  

 What is the difference between displacement reaction and 
double displacement reaction ? Give two examples each of 
these reactions.   
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17. (i)     (ii)        
       5 

 
 (1)   ‘P’       ,  (Fe)  

     1 : 3         
 ‘Q’     

 (2)         ‘R’     
 (3)    (R)           

   S        ()  
     

  (a) P, Q, R  S           
      

  (b)  ‘P’           ?  

 Distinguish between metals and non-metals on the basis of      

(i) two physical properties and (ii) three chemical properties.  

OR 
 (1) A non-metal ‘P’ which is the largest constituent of air, 

when heated with hydrogen in 1:3 ratio in the presence of 

catalyst (Fe) gives a gas Q. 

 (2) On heating P with oxygen an oxide R is formed.  

 (3) If this oxide (R) is passed into water in the presence of air, 

an acid S is formed which acts as a strong oxidizing agent.  

  (a) Identify P, Q, R and S, and give chemical equations of          

the reactions involved to justify your answer.  

  (b) To which group and period of modern periodic table 

does this non-metal P belong ?  
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18. (a)            ? 
 (b)             ,  

        ?         
 (c)      CO2      O2   ,  

         -     ? 
      5 

 (a) Why do fishes die when taken out of water ?  
 (b) Leaves of a healthy potted plant were coated with Vaseline. 

Will this plant remain healthy for long ? Give reason to 
justify your answer. 

 (c) If a plant is releasing CO2 and taking in O2 during the day, 

does it mean that there is no photosynthesis occurring ? 
Give reason for your answer.  

  

19.               5 
 (i)  
 (ii)  
 (iii)  
 (iv)   
 (v)   
 Describe in brief the role of the following parts in human male 

reproductive system : 
 (i) Testis 
 (ii) Seminal vesicle 
 (iii) Vas deferens 
 (iv) Urethra 
 (v) Prostate glands  
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20. (a)     ?    -   ?    
             

  (i)   

  (ii)   

  (iii)  

 (b)          60 cm      
            ,    
              
    ?          
   5 

 
 (a)           : 
  (i)  
  (ii)   
  (iii)   
  (iv)   
 (b) 4 cm     10 cm        

15  cm              
      

 (a) What are spherical lenses ? What are two types of these 
lenses ? Explain in brief the meanings of the following 
terms : 

  (i) Principal axis 
  (ii) Optical centre 
  (iii) Aperture 
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 (b) A burning candle and a screen are placed 60 cm apart. 
When a spherical lens is placed exactly in the middle of the 
two, a distinct image of the flame is obtained on the screen. 
What is the nature and focal length of the lens ? Also state 
the nature and size of the image formed.  

OR 
 (a) In the context of spherical mirrors, define the following 

terms : 
  (i) Pole 
  (ii) Centre of curvature 
  (iii) Principal axis 
  (iv) Focal length 
 (b) An object of size 4 cm is placed at a distance of 15 cm in 

front of a concave mirror of focal length 10 cm. Find the 
distance of the image from the mirror and size of the image 
formed.   

  
21. (a) R1, R2  R3          

       
 (b) 3A, 5A  7A       220 V   

  1 kW           
        ?      
    5  

 (a) Derive an expression for the equivalent resistance of three 
resistors of resistance R1, R2 and R3 connected in series.  

 (b) Three fuse of rating 3A, 5A and 7A are available. Which 
one of these will be most suitable to operate an electric iron 
of 1 kW power at 220 V electric line ? Give reason to 
justify your answer.    
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 –  
SECTION-B 

 

22.    pH    A    pH    B  
         A  pH      
 B  pH              
   A  B  pH     2  

 A student dips one pH paper in solution A and another pH 

paper in solution B and observes that the pH paper turns blue in 

solution A and orange in solution B respectively. Identify 

solution A and B. Find the value of pH of solutions A and B.  

 

23.             
      ,     ?     
               2 

 What happens when you add few drops of acetic acid to a test 

tube containing powder of sodium hydrogen carbonate ? List 

two observations. Write the name of the gas evolved and the 

method of its testing.   

 
24.                

                
       2 

 In the experiment of preparing a temporary mount of a leaf peel 

to observe stomata, we use glycerine and safranin. State the role 

of the two liquids in this case.    
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25.                

               

       2   

 Name the type of reproduction in which two individuals are 

formed from a single parent and the identity of the parent is 

lost. Write in brief about the first and the final stage of the 

process of this reproduction.   

 

26.               

               

     2  

 

   12 cm              

       60 cm         

                  

              

     15 cm  ,          

      ,     

 A student has to trace the path of a ray of light through a glass 

slab. List four precautions he should observe for better results.  

OR 



31(B) 15 [P.T.O. 

 You have a convex lens of focal length 12 cm. You place a 

candle flame on its principal axis at a distance of 60 cm from 

the lens on its one side and place a screen on its other side. 

Write two characteristics of the image formed on the screen. If 

you now shift the candle flame towards the lens so that its 

distance from the lens becomes 15 cm, then state the changes 

that are observed in these two characteristics of the image 

formed.     

  

27.     0-500 mA      0  100 mA 
    20              
  ,    ,         
      300 mA   15       
(i) , (ii)       (iii)     
       2 

 The range of a milliammeter is 0-500 mA. There are 20 

divisions between 0 and 100 mA mark on its scale. During an 

experiment a student observes ammeter’s pointer at 3rd 

graduation mark after zero mark when the key is off and the 

pointer at 15th graduation mark after 300 mA mark when the 

key is inserted into the plug. Find (i) the least count, (ii) the 

zero error with proper sign and (iii) the value of current drawn 

from the battery.   

____________ 



31(B) 16   

 


